UL

SR IR A
Plastic Screws

IRHRIEES
Screw Caps & Bonnets

YRBIZIE
Plastic Nuts

IRNLET TS

Set Screws

S8 ELER
Thumb Screws

]

Screw Washer

/2T
Washer



Rt AAMAS H 2K LA
- Material: Nylon 66 (UL) FooBAFE A

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
mf@Mﬂ FO11.24
P e
g5
PartNo. | A | B | C | D | Package Part No. | Package
SCwW-1 | 9.8] 8.0/3.3|1.3 1000 SCW-3 1000
SCW-2 [13.3]11.6|4.3[1.4
Part No. | Package
B SCW-5 1000
- 1

MOUNTING HOLE

Part No. | Package
SCWA-6 1000

Mg : e —RB% ARG ERA -

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

6 —
-3 (\
I \ y
ik ~
UL
M2.5%0.45P PartNo. | A | B | C | Thread | Package
MP-3 | 6.0/3.0| 5.5|M3x0.5P
Part No. | Package MP-4 | 8.0{4.0| 7.7|M4x0.7P| 1000
MP-2.5 1000 MP-6 [11.9]8.5/10.0 | M6x1.0P




« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
10.95
2.2+ 5.5+
—
A
M3x0.5P
Part No. | Package
MP-5 1000
11
‘«4» —8—
S
Fabd(gann
M5x0.8P
Part No. | Package
MP5-1 1000
le— 8 —
4]
L
= M
]
M4x0.7P
Part No. | Package
MP-4-1 1000

20 —
T 3 2
= OO b
U e
o~
H
i Y
M12x1.75P
Part No. | Package
MP-12 250

Mg : e —RB% ARG ERA o

LA i
<00 ) g
‘r
M3x0.5P
Part No. | Package
MP-26 1000

Part No. | Package
MP-632 1000
F—11.8—
~4.5 @14

ot

T : ‘ [=e]

[INRAAN g o
i

+ Material: PBT

- Color: Black
Part No. | Package
MP6-1 1000

Wi

1/ i
it

+ Material: POM
« Color: Natural

Part No. | Package
MP16-1 250
Part No. | Package
SWVB-1 1000




Rig: Be—RRY%  FABRKERA -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
~— @6.5 —
Part No. | Package
SWV-4 1000
- Material: Silicon Rubber iR BAMSMR YL » FAMKERRA o
« Color: Black
« Unit: mm
*E« ~— @14 —
i ; Part No. | Package
> S TF-250 1000
SN
T
] T
- Material: Silicon Rubber A e — %% FABR%KERLR -
« Color: Black
+ Unit: mm
Hﬁ 10.7 H‘
S
'\- @
S A
L=
-~ @7.56 ~
S _
w0
| <
j

Part No. | Package
EMC-41 1000

Rig : Bod —BRBERBBRGER -

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm @2.4 FOR M3 SCREW

!

Part No. | Package
MOA3 1000




Rig : Bud —RBERBBRGEER -

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

Part No. | Package
@30 — N CAM-12 100

Part No. A | B|C | D| Thread | Package

MO-3 8.5/5.4|3.2/0.8| M3x0.5P
MO-3-3.7 | 8.5/5.4/3.7|0.8| M3x0.5P 1000
MO-4 9.716.9]4.5/0.9]| M4x0.7P

MO-632 ]10.6]7.8/4.2[1.0/6-32 UNC

Part No. A | B |C| D | Thread | Package
MO-6G-68 |13.0/10.0|6.8 |1.65|M6X1.0P 2000
MO-8G-85|17.0]13.0/8.5[1.9 |M8x1.25P| 1000

s

= ] :
LTHREAD

+ Material: Nylon 66 (UL)/PC (UL)
- Flame Class: 94V-2/94V-0

« Color: Natural Part No. A | B Thread Package
+ Unit: mm M-2 3.95/1.4] M2x0.4P
M-2L 3.95[3.0| M2x0.4P
M-2.5 | 5.0 [2.0|M2.5x0.45P
N M-2.6 | 5.0 |2.0|M2.6x0.45P| 2000
q ) < M-3 55 [2.7] MB3x0.5P
“ / | M-3S | 5.4 [2.4] M3x0.5P
M-3.5 | 5.9 [2.8/M3.5%0.6P
- M-4 6.9 [3.3] M4x0.7P
‘E%?‘ A M-4F 7.0 [2.5] M4x0.7P
e M-5 8.0 |4.4| M5x0.8P | .
THREAD M-6 10.0 [5.0] M6X1.0P
S4-40 | 6.4 |2.5| 4-40 UNC
S6-32 | 7.9 [3.2] 6-32 UNC
- Material: Nylon 66 (UL) Rig: RAESFRAEREBRLEER -

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm 7 ﬁ

Part No. | Package
M12-2 2000




Mg ReSAAEIEERSERA -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

« Color: Natural/Black 1
« Unit: mm i
—
71 Part No. | Package
M12x0.75P MOC-12 1000

n
i
]

« Material: Nylon 66 (UL) i GBS —EBGRBIRIR %R o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm

Part No. Thread | Package
MOB-2.5 |M2.5X0.45P

MOB-2.6 |M2.6x0.45P 1000
PN
THREAD

i

o

[T e

Part No. A | B | Thread | Package

MOPG-7 17.1|5.0| PG7
MOPG-9 22.0/5.1|PG9 1000 Part No. A | Thread | Package
MOPG-11 [24.0]/6.1|PG11 M-10 17.0|M10x1.5P 500
MOPG-13.5 |27.2|6.1|PG13.5 MO-12 |17.9|M12x1.5P| 1000

+ Material: Nylon 66 (UL)/PP
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

Part No. A | B C Thread | Package
MO-8-1 [12.0| 5.0|13.0 | M8X1.0P 1000
ac %‘ MO-13  [14.0| 4.1|16.0 |M13X1.0P
_ s MO-25.4 [38.2]11.7|42.2 | PF1-11 100
!i%;! @ MO-32L [36.6| 8.2|41.15|M32x1.5P 500
THREAD“F
« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
kAj PartNo. | A | B | C | Thread | Package
MO-16 22.0/6.6(24.7|M16x1.5P| 1000
THREAD MO-20 27.0/6.6(29.8|M20x1.5P
MO-25 33.0/8.5(36.2|M25x1.5P 500
o MO-25-1 |33.0]6.6]35.4| M25X1.5P
—gc " MO-32  [41.0/7.6|46.4|M32x1.5P| 100




it : REe—RBGEREBRGEER -

- Material: Nylon 66 (UL)
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
N
-- Part No. A | B| C | D | Thread | Package
A SMO-3  |15.96|5.0| 8.0] 6.4| M3x0.5P
B - SMO-4  |21.5 |8.0/10.1]10.0] M4x0.7P 1000
W ‘ N f SMO-632 |22.0 |8.0/10.5]10.0]6-32 UNC
‘ © SMO-832 |21.0 |8.0/10.0]10.0|8-32 UNC

Il l
LD THREAD

Ri&: ARBERERGIEMN > 228

+ Material: Nylon 66 (UL) R Bk

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
THREAD
Part No. A Thread | Package

M3x0.5P SM4-6 6.0 | M4x0.7P

SM4-8 8.0 | M4x0.7P

SM4-10 10.0 | M4x0.7P
Part No. A | Package SM4-12  |12.0 | M4x0.7P 1000
SM3-6 6.0 SM632-6 | 6.35/6-32 UNC
SM3-8 8.0 1000 SM632-8 | 8.0 |6-32 UNC
SM3-10 |10.0 SM632-9 | 9.5 |6-32 UNC
SM3-12 |12.0 SM632-12 |12.7 |6-32 UNC

Rid: AANEARERE2ZEMH T8

+ Material: Nylon 66 (UL)+GF LR o
+ Flame Class: 94HB
- Color: Black
« Unit: mm
Part No. A | Package
MI1.2-2.5NGF (2.5
MI1.2-3NGF (3.0
MI1.2-4ANGF [4.0| 1000
MI1.2-5NGF |5.0
M1.2X0.25P MI1.2-6NGF 6.0
PartNo. | A | Package
M1.6-3 3.0
M1.6-4 4.0
M1.6-4.5 | 4.5
M1.6-5 5.0
M1.6-6 6.0 1000
M1.6-7 7.0
M1.6X0.35P M1.6-8 8.0
M1.6-9 9.0
M1.6-10 |10.0| 2000




Ait: ANERERE2 BN T8

- Material: Nylon 66 (UL) il i A o
+ Flame Class: 94V-2/94V-0 @45
« Color: Natural/Black ’
« Unit: mm
- Part No. A | Package
7{ MI2-6 6.0
MI2-8 8.0
1000
M2X0.4P < MI2-10 |10.0
J MI2-12 |12.0
@4.2 Part No. A | Package
N MI2-3.8F 3.8
T MI2-4.8F | 4.8
i N MI2-5.8F 5.8
] MI2-6.8F | 6.8
< Mi2-7.8F | 7.8] 0%
M2x0.4P < MI2-8.8F | 8.8
M2x0.4P MI2-9.8F | 9.8
[ MI2-14.8F ] MI2-14.8F [14.8
~ @45 r ~@4.8
© ~
i f
M2.5x0.45P T M2.5X0.45P <
Part No. A | Package Part No. A | Package
MI2.5-5 5.0 2000 MI2.5-4 4.0
MI2.5-12 [12.0 MI2.5-12S |12.0] 2000
MI2.5-16 |16.0
@5.4
ac Part No. A | B | C | Thread | Package
MI3-3 3.0(/2.0|5.5|M3x0.5P
MI3-5 5.0/2.0|5.5| M3x0.5P
[l MI3-6 6.0(2.0|5.5|M3x0.5P
i — MI3-8 | 8.0]2.0|55|M3X0.5P
< = MI3-10 [10.0(2.0|5.5|M3x0.5P| 1000
MI3-12 12.0/2.0(5.5| M3x0.5P
MI3-12S [12.0(1.7 |5.4| M3x0.5P
Part No. | Package THREAD MI4-7 7.0/2.7]7.0| M4x0.7P
MI3-6R 1000 [ MI3-12S ) MI4-10 [10.0]2.7]7.0|M4x0.7P

+ Material: PEEK (UL)
+ Flame Class: 94V-0 5.5~

' « Color: Natural
‘ ’ « Unit: mm Part No. A | Package
1 MI3-8PK 8.0
MI3-10PK |10.0
MI3-12PK [12.0
MI3-14PK |14.0
MI3-15PK |15.0
MI3-17PK |17.0

M3x0.5P

1000

Part No. | A | Package MI3-18PK |18.0
MI3-4PK [4.0 MI3-20PK |20.0
MI3-5PK |5.0| 1000 MI3-25PK |25.0
MI3-6PK |6.0 MI3-30PK |30.0




Rt : APRBERERBZEMN > 5%
- Material: Nylon 66 (UL)/PC (UL) il i o

+ Flame Class: 94V-2/94V-0

- Color: Natural

+ Unit: mm PartNo. | A| B | C Thread | Package

M3.5-10 |6.9]2.2/10.0 |M3.5%0.6P
M3.5-15 |6.9(2.2|15.0 |M3.5%0.6P
M3.5-20 |6.9]2.2/20.0 [M3.5X0.6P| 1000
M3.5-25 |6.9(2.2[25.0 |M3.5x0.6P
M3.5-30 |6.9]2.2/30.0 |M3.5x0.6P
S440-6 |5.2]2.1] 6.4 | 4-40 UNC
S440-8 |5.2]2.1] 8.0 |4-40 UNC| 2000
T OA S440-9 [5.2]2.1] 9.5 [4-40 UNC
S440-12 |5.2]2.1[12.7 | 4-40 UNC
S440-15 |5.2]2.1[15.5 | 4-40 UNC
S632-6 |6.7]2.5| 6.35]6-32 UNC
S632-8 |6.7]2.5] 8.0 | 6-32 UNC
S632-9 |6.7]2.5] 9.5 | 6-32 UNC
S632-12 |6.7]2.5[12.7 |6-32 UNC
S632-15 |6.7]2.5/15.9 |6-32 UNC
THREAD S632-19 |6.7]2.5[19.1 |6-32 UNC

- S632-25 |6.7]2.5(25.4 |6-32 UNC
[ $632-25, S632-28 ) S632-28 |6.7]2.5/28.0 |6-32 UNC

1000

2000

THREAD 1000

- Material: PEEK (UL)

Flame Class: 94V-0 ~| @55 |-
) Sg:grml:lnatural #1 PartNo. | A [ Package
1 M3-8PK 8.0
M3-10PK [10.0
* ; M3-12PK |12.0
< M3-14PK [14.0
M3X0.5P | M3-15PK |15.0

2.1

M3-17PK |17.0 1000
PartNo. | A | Package M3-18PK |18.0
M3-4PK [4.0 M3-20PK |20.0
M3-5PK |5.0] 2000 M3-25PK |25.0
M3-6PK [6.0 M3-30PK |30.0
+ Material: Nylon 66 (UL)/PC (UL)
- Flame Class; 94V-2/94V-0
+ Color: Natural @c
+ Unit: mm
.
4
T
THREAD T
Part No. A | B | C |PH| Thread | Package Part No. A | B | C|PH| Thread Package
M2-3 3.0[1.4|3.3|#0 | M2x0.4P M2.5-6 6.0/1.5]4.3| #1 | M2.5X0.45P
M2-4 4.0[(1.4/3.3|#0 | M2x0.4P M2.5-8 8.0[1.5]4.3| #1 | M2.5X0.45P
M2-5 5.0(1.4|3.3|#0 | M2x0.4P M2.5-10 |10.0|1.5]4.3| #1 | M2.5X0.45P
M2-6 6.0/1.4]3.3|#0 | M2x0.4P M2.5L-13 |13.0|1.5]6.3| #1 | M2.5X0.45P
M2-6.5 6.5/1.4|3.3|#0 | M2x0.4P M2.6-4 4.0[1.5]4.3| #1 | M2.6X0.45P
M2-8 8.0/1.4]3.3|#0 | M2x0.4P 2000 M2.6-5 5.0/1.5]4.3| #1 | M2.6X0.45P | 2000
M2-10 |10.0(1.4|3.3|#0 | M2x0.4P M2.6-6 6.0/1.5]4.3| #1 | M2.6X0.45P
M2-12  |12.0{1.4|3.3|#0 | M2x0.4P M2.6-8 8.0/1.5]4.3| #1 | M2.6X0.45P
M2-15 |15.0(1.4|3.3|#0 | M2x0.4P M2.6-10 |10.0(1.5[4.3 | #1 | M2.6X0.45P
M2.5-4 4.0/1.5|4.3|#1 | M2.5X0.45P M3-4 4.0/2.1|5.5|#1 | M3X0.5P
M2.5-5 5.0(1.5]4.3| #1 | M2.5X0.45P * M3-5-1 5.0/1.4|55|#1 | M3X0.5P




|

3

Rig: ARBEARFREEMH > £F4¢

9

s

- Material: Nylon 66 (UL)/PC (UL) il i Bk o
+ Flame Class: 94V-2/94V-0
+ Color: Natural
« Unit: mm ac
‘«gc» @C
E @ ;LPH
PH PH o +
N
' o'
2 e - T
I T{ I
THREAD THREAD l THREAD

[ M4-8L, M4-10L ] [ M5-10, M5-16, M5-20 ]

Part No. A | B | C |PH| Thread | Package Part No. A | B | C |PH| Thread | Package
M3-5 5.0/2.1|5.5| #1 | M3x0.5P 2000 M4-20 20.0 [2.5|7.0| #2 | M4x0.7P
M3-6 6.0/2.1|5.5| #1 | M3x0.5P M4-25 25.0 [2.5|7.0| #2 | M4x0.7P
M3-8 8.0/2.1|5.5| #1 | M3x0.5P M4-30 [30.0 [2.5|7.0| #2 | M4x0.7P
M3-10 [10.0/2.1|5.5| #1 | M3x0.5P M4-35 [35.0 [2.5|7.0| #2 | M4x0.7P | 1000
M3-12 |12.0]2.1|5.5| #1 | M3x0.5P % M5-10 |10.0 [3.6]9.1|#1 | M5X0.8P
M3-14  |14.0]2.1|5.5| #1 | M3X0.5P M5-16 [16.0 [3.6]9.1| #1 | M5x0.8P
M3-15 |15.0]2.1|5.5| #1 | M3X0.5P M5-20 |20.0 |[3.6]9.1|#1 | M5x0.8P
M3-17 |17.0/2.1|5.5| #1 | M3X0.5P R440-4S| 4.75/1.8|5.8| #1 |4-40 UNC
M3-18 [18.0(2.1|5.5| #1 | M3x0.5P R440-6 | 6.4 |2.4|5.2|#1 [4-40 UNC 2000
M3-20 |20.0|2.1|5.5| #1 | M3x0.5P R440-7 | 7.0 |2.4|5.2| #1 [4-40 UNC
M3-25 [25.0(2.1|5.5| #1 | M3x0.5P R440-8 | 8.0 |2.4|5.2|#1 [4-40 UNC
M3-30 [30.0(2.1|5.5|#1 |M3x0.5P| 1000 R440-9 | 9.5 |2.4|5.2| #1 [4-40 UNC
M4-5 5.012.5|7.0| #2 | M4x0.7P R440-12 [12.7 |2.4|5.2 | #1 |4-40 UNC 1000
M4-6 6.0/2.5|7.0| #2 | M4x0.7P R440-15 [15.5 |2.4|5.2| #1 [4-40 UNC
M4-8 8.0/2.5|7.0| #2 | M4x0.7P % R440-19 |19.0 |2.4|5.2 | #1 |4-40 UNC
M4-8L 8.0/3.0(8.0| #1 | M4x0.7P R632-6 | 6.35/2.5|6.7|#2 |6-32 UNC
M4-10 [10.0(2.5|7.0| #2 | M4x0.7P R632-8 | 8.0 |2.5|6.7|#2 [6-32 UNC| 2000
M4-10L [10.0/3.1/8.0| #2 | M4x0.7P R632-9 | 9.5 |2.5|6.7|#2 |6-32 UNC
M4-12  [12.0(2.5|7.0| #2 | M4x0.7P R632-12 [12.7 |2.5|6.7| #2 |6-32 UNC
M4-14  |14.0(2.5|7.0| #2 | M4x0.7P R632-15(15.9 |2.5|6.7|#2 [6-32 UNC| 1000
M4-16 [16.0(2.5|7.0| #2 | M4x0.7P R632-19 |19.1 |2.5|6.7| #2 |6-32 UNC

+ Material: Nylon 66 (UL)/PC (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

< Unit: mm ‘“@CT
@PH
|
B
THREAD

PartNo. | A | B | C |PH| Thread Package Part No. A | B| C |PH| Thread | Package
M2-4.5F |4.5|1.2|3.6|#0| M2x0.4P M3-10F [10.0]1.6]5.6 | #1 |M3x0.5P
M2-5.5F |5.5|1.2|3.6|#0| M2x0.4P M3-12F [12.0]1.6|5.6 | #1 |M3x0.5P
M2-6.5F |6.5/1.2|3.6|#0| M2x0.4P M3-14F [14.0]1.6|5.6 | #1 | M3x0.5P
M2-7.5F |7.5|1.2|3.6|#0| M2x0.4P 2000 M4-8F | 8.0/2.0]7.6 |#1 |M4x0.7P
M2-8.5F |8.5|1.2|3.6|#0| M2x0.4P M4-10F [10.0]2.0|7.6 | #1 | M4x0.7P
M2.5-6F |6.0|1.5]4.6|#1 |[M2.5x0.45P M4-12F [12.0]2.0|7.6 | #1 | M4x0.7P 1000
M2.5-8F |8.0|1.5|4.6|#1 |[M2.5x0.45P M4-14F [14.0]12.0]7.6 | #1 | M4x0.7P
M3-4.2F |4.2|1.7]6.0|#1 | M3x0.5P M4-16F [16.0]2.0|7.6 | #1 | M4x0.7P
M3-5F 4.8|1.2]53|#2| M3x0.5P M4-18F [18.0]2.7|7.65| #1 | M4X0.7P
M3-5.3F |5.0/1.6|5.3|#1| M3x0.5P 1000 % M5-10F [10.0/2.5/9.1 | #2 | M5xX0.8P
M3-6F 6.0/1.6|5.6|#1 | M3x0.5P M5-15F [14.8]2.5]9.1 | #2 | M5x0.8P
M3-8F 8.0/1.6|5.6|#1 | M3x0.5P % M6-25F [25.0/2.0/8.4 | #2 | M6X1.0P




Rk : ARER ERGE2 B4 S8

 Material: PEEK (UL) Al R B o
S + Flame Class: 94V-0 — 76
= . Co!or: Natural
% * Unit: mm #1 PartNo. | A | Package
il = © M3-8FPK 8.0
e = % M3-10FPK | 10.0
= = 4] M3-12FPK | 12.0
El = < M3-14FPK | 14.0
- = M3X0.5P | M3-SFPK [16.0]
M3-17FPK | 17.0
Part No. | A | Package M3-18FPK | 18.0
M3-4FPK | 4.0 M3-20FPK | 20.0
M3-5FPK [5.0| 1000 M3-25FPK | 25.0
M3-6FPK | 6.0 M3-30FPK | 30.0
« Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
Part No. | Package
MIL4-20 1000
M4x0.7P
}
S
P o
—
T Part No. | Package
< MI420-25.4| 1000
8
1/4-20 UNC l
o
@ 0 PartNo. | A | Package
Lo
— STM3-4 4.0
y STM3-6 6.0
ﬁT‘ STM3-8 8.0/ 2000
/ < STM3-10 |10.0
Mx0.5P— 2= | STM3-12 [12.0
T
~ N
®4 N @J
: O3 w
N any ?1
% o ot
<
M4x0.5P S 6-32 UNC
| M5x0.8P Mex1.0p /= | |
Part No. A | Package Part No. A | Package Part No. | Package Part No. A | Package
STM4-6 6.0 STM5-16 [16.0 1000 STM6-12 2000 STM632-6 | 6.35
STM4-8 8.0 2000 STM5-25 [25.0 STM632-8 | 8.0 2000
STM4-10 |10.0 STM632-9 | 9.5
STM4-12 |12.0 STM632-12 |12.7




RAg: ARERFRBREIEM4 > 2F% >
- Material: Nylon 66 (UL) Al R B o
+ Flame Class: 94V-2/94V-0 @12
« Color: Natural/Black
« Unit: mm EEE
Part No. | Package
M4-9NBD 1000
il
o3
M4x0.7P [
M4x0.7P
)
gj"ﬂ + Material: PC (UL)
M4X0.7P — T « Flame Class: 94V-2
- Color: Transparent
Part No. | Package Part No. | Package
MRL4-3 1000 MRT-8 1000
- Material: PC (UL)
+ Flame Class: 94V-2/94V-0 ~06.4
- Color: Transparent
« Unit: mm
Part No. A | Package
MR4-9.5 | 9.5
MR4-12 |12.0| 1000
MR4-20 [20.0
M4x0.7P
- Head Material: Nylon 66 (UL)+GF @8.5
+ Head Flame Class: 94V-0 i
« Color: Black
+ Unit: mm e
e
@5
P
0 Part No. | Package
- M5A-65 250
M5x0.8P T

« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
- Color: Transparent
« Unit: mm

M6X1.0P
Part No. | Package
M6-4 1000

E@l:ﬂ 53

M8x1.25P

« Material: Nylon 66 (UL)
« Color: Natural/Black

Part No.
M8-7

Package
1000




Rig: ARERFREXEN, > 288

« Material: PC (UL) R
+ Flame Class: 94V-2/94V-0
- Color: Transparent
+ Unit: mm
78.4
#2
'
S jf 1/4-20 UNC
: < « Material: POM
MéxL.0P e | - Color: Black
Part No. | Package Part No.
M6-8F 500 RU1420-8 500

+ Material: PE
« Color: Black 26.1
+ Unit: mm I

J

)

}

Lo

i 0 Part No. | Package

o~ EM-528 500
J@l?.St

- Material: PC (UL)

+ Flame Class: 94V-2/94V-0

« Color: Black @18
+ Unit: mm

Rig: ARRALBREBHREIBER -

= Part No. | Package
=175 Laees | o
M9.5x1.0P AR

M4x0.7P

Package

1000

« Material: PP (UL)

+ Flame Class: 94HB
+ Color: Black/White
« Unit: mm

@12

A% ANEN S 3k RPCRZBEZE °

Part No.

Package

M4x0.7P KSM-1A

1000

@12 —

-
d &
0 M4x0.7P 4
M4x0.7P — ~lg5 -
+ Material: Nylon 66 (UL)
+ Material: PE + Material: PE « Flame Class: 94V-2/94V-0
« Color: Black/White « Color: Black/White « Color: Natural/Black
Part No. | Package Part No. | Package Part No. Package
KSM4-5M 1000 KSM4-6F 1000 KSC256-8.4F | 2000




Rig: ARERFREXEN, > 288

+ Material: Nylon 66 (UL) LR

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

+ Unit: mm

@C —
Part No. A | B| C | Thread | Package
MIA6-16 [16.0|3.5|15.0 |M6x1.0P 1000
THREAD MIA8-20 [20.0|5.0|18.5|M8x1.25P 500

« Material: PC (UL)

+ Flame Class: 94V-2/94V-0 = 825

- Color: Transparent @:/

« Unit: mm ‘
=L PartNo. | Package
J - MUS2-10 | 2000

woosr = |

Mg B&E KX > BERKR -

+ Head Material: PC+ABS (UL)

+ Head Flame Class: 94V-2/94V-0
« Color: Black

« Unit: mm

Part No. A | Package
GPEA3-6BN | 6.0 500
GPEA3-8BN | 8.0

A% MABKZIBET 8% > T8>
- Material: PC (UL) il i Ak o
+ Flame Class: 94V-2/94V-0

- Color: Black 08

+ Unit: mm @0'6 @

© o~
M3x0.5P M4x0.7P
Part No. | Package Part No. | Package
THRI3-6 2000 THRI4-7 2000
« Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Natural/Black 05

+ Unit: mm ||

C

Part No. | Package
THRIA3-2.4| 2000

24 21k




A’

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

ARG IEAR BK > TFH
if J§ ok o

« Material: PC (UL)
+ Flame Class: 94V-2/94V-0

« Unit: mm « Color: Transparent
« Unit: mm
341
M5x0.8P <
M6x1.0P {
Part No. | Package Part No. A | Package
THR5-8 2000 THRI6-6 | 6.0
THRI6-8 | 8.0| 2000
THRI6-10 [10.0
R : ARSIRBREEMHZER » T+

- Material: PC+ABS (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

 Unit: mm

~a

HBOFELR FREMRE -

Part No. F Thread | Package
GPM3-20 |Zinc Plated | M3x0.5P
GPM4-20 |Nickel Plated | M4x0.7P
THREADED Zinc Plated 1000
STEEL INSERT GPM632-20 Nickel Plated 6-32 UNC
FINISH: F
A& : AR HREREZAMHEZERE » T+

+ Cap Material: Nylon 66 (UL)
« Body Material: PC+ABS (UL)
« Screw Material: Steel
- Cap Flame Class: 94V-2 oy Part No. A | Package
+ Body Flame Class: 94V-0 HASW3-8 | 5.0
«+ Screw Finish: Zinc Plated CAP — 211 ’« HASW3-9 6.0
. Co!or: Black gy 1T HASW3-13 10.0
- Unit: mm S [HASW3-18 [15.0 1000
BODY I HASW3-23 {20.0
j( HASW3-28 [25.0
M3 SCREW | HASW3-33 |30.0
Part No. A | Package Part No. A | Package
HASW4-8 5.0 HASW5-10 | 7.0
CAp— P12 |- HASW4-13 [10.0 HASW5-15 |12.0
ZME
= HASW4-23 |20.0 HASW5-25 |22.0
BODY JL HASW4-28 | 25.0 HASW5-30 |27.0 250
L HASW4-33 |30.0 HASW5-35 |32.0
M4 SCREW | HASW5-40 |37.0
HASW5-45 |42.0
HASW5-50 |47.0

% ;Flﬁ?I"/E\" 7‘7‘1%*55{49




g s BE K> B RREAR -

+ Head Material: PC+ABS (UL)
+ Head Flame Class: 94V-2/94V-0
« Color: Black

A + Unit: mm

METAL
M2x0.4P

METAL
M2X0.4P

Part No. | Package Part No. | Package
GPE2-24 1000 GPE2-30 1000
- Plastic Material: PP (UL) Rt MABKZRET  B% > T
+ Flame Class: 94HB wt )i Ak o
« Color: Black
« Unit: mm

wssne— YUl

SELF-TAPPINGJ %
SCREW @2.6 1 8.3

- g10

Part No. | Package
GPE2.6-6 | 1000

93
16

f

- Material: PC+ABS (UL) Rig G X BERKRK -
+ Flame Class: 94V-2/94V-0

+ Color: Black

« Unit: mm

Part No. A | B | Package
GPE3-5.5 | 5.5|11.8

GPE3-8 8.0/14.3
GPE3-15 [15.0]21.3
GPE3-23 [23.0]29.3

1000

Part No. | Package
GPEE3-3.5| 1000

METAL
M3x0.5P "
(INSERT MOLDING)




AR ARSI REERAGZBERE » TF

) o s 7 % o
- Head Material: PC (UL) B FFLR - TREME
« Head Flame Class: 94V-2/94V-0
« Color: Black
+ Unit: mm
4
<t
T
@8
j Part No. | Package
= GPED3-6 | 500
METAL
M3X0.5P
+ Head Material: PC+ABS (UL) Aig B BRI -

+ Head Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm

Part No. | Package
GPE4-8 500

METAL o
M4x0.7P /

- Head Material: ABS (UL)
+ Head Flame Class: 94HB
+ Color: Natural/Black
+ Unit: mm
Part No. A | Package
GPE4-8L 8.0
b GPE4-12L [12.0]
N~
METAL = j
M4X0.7P = |
- Head Material: PP (UL) A& : ARSI AREAHZBEE » 7 F
+ Head Flame Class: 94HB o RELR > FTAERREK o
« Color: Black
+ Unit: mm
@23.7
METAL
METAL
MaX0.7P M8x1.25P
Part No. | Package Part No. A | Package
GPE4-12-1 200 GPE8-21 |13.0

GPE8-32 [24.7




g s X BRAER -

- Head Material: ABS (UL)

+ Head Flame Class: 94HB
+ Color: Black

« Unit: mm

¥

Part No. | Package
METAL GPE4-13.5| 250
M4x0.7P
@14 |~
_ f
e ——— - Part No. | Package
o4~ GPE4-42 | 250
s
METAL o
M4x0.7P - 3
@15
Part No. | Package
— GPE5-20 500
METAL
M5x0.8P
+ Head Material: PC (UL)
+ Head Flame Class: 94V-2/94V-0
- Color: Black
« Unit: mm
24.75 Part No. | Package
@4.47 GPE44-1 500
@4.75
METAL
4-40 UNC
+ Head Material: PP (UL)
+ Head Flame Class: 94HB
- Color: Black
« Unit: mm
é Part No. | Package
S GPE632-6 500




+ Head Material: ABS (UL)
+ Head Flame Class: 94HB
+ Color: Natural/Black

« Unit: mm

NAER2.1
HEX SOCKET 2.1 DEEP

METAL =
6-32UNC T

ﬁ—r
D <

7.3-=175

g

Part No.

Package

GPE632-5

500

+ Head Material: PC+ABS (UL)
+ Head Flame Class: 94V-2/94V-0
« Color: Black
« Unit: mm

~—13

METAL
M3x0.5P

j

~—14.1

Part No.

Package

GPR3-5.5

1000

- Material: Nylon 66 (UL)

» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

O

(AN

THREAD

f
m
-

o
|

Part No.

C | Thread

Package

A E2.6

g s %KX B RREAR -

HEX SOCKET 2.6 DEEP

METAL
6-32 UNC

Part No.

GPE632-9

+ Head Material: ABS (UL)
+ Head Flame Class: 94HB

« Color: Black

METAL
6-32 UNC

T15

0

i
14.8

L

Part

No.

Package

GPR632-6

500

A : ARBRERG2EMH > 238
AR AR TR FaRE o AR
TR A B o

SUS632

9.0

6.9

9.8

6-32 UNC

SUS832

10.6

7.2

9.6

8-32 UNC

1000

—

O
6-32 UNC i
Part No. C | Package
RSUS632 |5.0
RSUS632-6 6.0 1000

-



A& : TRAEFGMEAZHEER o
« Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
?1.8
Part No. | C | Package
KWS2-05 |0.5
-~ g4g KWS2-08 0.8
@25 KWS2-10 |1.0
ﬂ # KWS2-15 |1.5 2000
7 KWS2-20 [2.0
RECOMMENDED KWS2-25 |2.5
MATING SCREW: M2
@2.4
A Part No. Package
-e261 |, KWSB2.5-2.2 | 2000
/'/\ - /'/\ z
T
- Material: Nylon 66 (UL)/PE/LDPE
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
@D
Part No. A | B |C|D]| S | Package
KWSP2-1 5.0/ 2.7/1.0|2.2
KWSP2-1.1 | 6.5| 2.7{1.1|2.2 M2.6
KWSP2-15 | 5.0| 2.7{1.5(2.2 ' 2000
~—— QA — KWSP-2.5 5.0( 2.7{1.0(2.0
- @B~ ﬁ KWSP-2.6 | 6.0/ 3.2|/1.0|2.4|M3
KWSP-9 18.0110.5|1.5|8.7 [M9 1000
RECOMMENDED
MATING SCREW: S
+ Material: Nylon 66 (UL)/Nylon 6 (UL)/PE
« Natural: 94HB/94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
@D
Part No. A | B |C| D | S | Package
KWSP3-1.5 | 9.0| 3.2(1.5|2.6 |M3 1000
KWSP4-1.4 |12.0| 4.3(1.4|3.3 M4
KWSP4-2.3 | 7.0| 4.3]2.3|3.3
OA —- KWSP5-1 10.0| 5.3|1.0(4.1
W@Bﬂ i KWSP5-15_ [15.0] 5.3(15[43 |° | 2000
D:D O KWSP6-1.6 |12.0] 6.4|1.6|5.0 M6
T KWSP6-2 18.0] 6.4|2.0/5.15
RECOMMENDED KWSP10-2.5 [21.0/10.5(2.5]8.9 |M10| 1000

MATING SCREW: S




Rig: TRAFEKEAZIER -

« Material: PP (UL)
« Flame Class: 94HB
« Color: Black
« Unit: mm
?4.8
q%%sp = Part No. | Package
— KWS5-1.6 | 2000
RECOMMENDED
MATING SCREW: M6
« Material: PE
- Color: Natural
+ Unit: mm
@ Part No. A | B |C| D | S | Package
KWS3-0.8 8.0/ 3.2/0.8| 2.5|M3
KWS5-1 20.0] 5.3/1.0| 4.2|M5 2000
[— o KWS6-1.6 |12.0| 6.4|1.6| 5.2|M6
fﬂBﬁ 1 KwS8-1.6 [12.0] 8.4]1.6] 6.6|M8
-t KWS12-2.5 |27.0/12.8|2.5|10.4 | M12 500
RECOMMENDED

MATING SCREW: S

- Material: Nylon 66 (UL) Rig : THAMIBEKERAZHA -
- Flame Class: 94V-2/94V-0
« Color: Orange
+ Unit: mm
Part No. | Package
KWA3-0.7 | 1000
RECOMMENDED
MATING SCREW: M3
+ Material: Nylon 6 (UL) A TRABEKMEAZIRA
« Flame Class: 94HB
- Color: Natural
« Unit: mm
@A
@D Part No. A | C | D | Package
* KYWS2-0.3 /4.8/0.3|1.8
KWS-2.6 4.810.5|2.2
o KWS-2.6-08/4.8/0.8(2.2| 2000
1 KWS-2.6-1 (4.8(1.0|2.2
-t KYWS-3 8.0/0.5|2.5




Rt TRARGERZER -

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

Part No. A B | C|D S Package
KWS-3S 5.0 [4.0 |0.6 |2.5
KWS-3 6.7 |4.0 |0.8 |25 M3
KWS-3-1.2 6.7 |35 |1.2 |25
KWS-4 8.0 |5.0 |1.0 |3.3 M4
KWS-4.6 15.0 [9.5 |0.9 |4.6 M5 2000
KWS-5 15.0 {9.5 0.9 |5.0
KWS-6 15.0 {9.5 |0.9 |5.8 M6
’\R/Ii%(,)\ll\él\/lgggg@_ s KWS-632 8.3 |5.0 |0.8 |3.2 6-32 UNC
' KWS-632-1.6 | 8.35/4.96|1.64|3.15

-+ Material: Nylon 66 (UL) Rt TRABSER » A FRE -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
@5.15

@3.6 218

- Kws-2 | 2000

RECOMMENDED
MATING SCREW: M2

Part No. | Package
KWS-3.6 2000

RECOMMENDED
MATING SCREW: M4

- 1.2(x4) 2 Part No. Package

A —
98 ap
Part No. A B| C|D S Package
KWS832-0.8 | 9.91(5.97[0.81|3.43|8-32 NUC

KWS-3.8 9.92/5.97/0.81/3.86 M4
o KWS-5S 11.45|7.1 ]0.85|4.6 2000

:m:# KWS-5L 16.0 |7.03|1.6 |45 M5

RECOMMENDED KWS-8 8.5 |5.8 |0.9 |4.4

MATING SCREW: S



Rik: TRABEEA » £ H FRHE o

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
~—6
@4.2
<=}
c?' Part No. Package
T KWS-4.2-0.6 | 2000
RECOMMENDED

MATING SCREW: M5

~— 218 —
9.5
5.8 @5.6

©
:Em#
RECOMMENDED RECOMMENDED
MATING SCREW: M5 MATING SCREW: M5
Part No. | Package Part No. | Package
KWS-6L 2000 KWS-6-1 2000
it BAKMH#RA o
+ Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
- Color: Natural/Black
« Unit: mm
28 —-
T @8 — 3.4 —
@4.5
-] Lo
] @5.2 9 =
e Tesr § - [ :Tt
Part No. | Package Part No. Package
KWSA-5 1000 WSW8-3.4-0.5| 1000

Part No. | Package
COCF-1 1000




+ Material: POM (UL)
+ Flame Class: 94HB
+ Color: Natural/Black

Rig s TRAMSGERAZRY o

- Material: PE
+ Color: Black

+ Unit: mm
~—@9.1
— @5.4
© oo
@71.7 o
\EE =
Part No. | Package Part No. | Package
WSUA-1 2000 WSUA-2 2000
AR AR EZHER -
 Material: PE
« Color: Black
+ Unit: mm
@24 —
@10
0 Part No. | Package
2138 |- Jf WSUC-1 | 1000
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
- Color: Black
+ Unit: mm
Part No. A B | C | D | E | Package
WSUC-2 [14.0 [12.5]6.5 [3.2 |2.0 2000
WSUC-3 [12.45| 9.8|4.45|3.55|2.3




Mg TERSFEEAZIER -

+ Material: ABS (UL)
+ Flame Class: 94HB
+ Color: Natural

+ Unit: mm

Part No. | Package
WSU-1 1000

3
45

:

Mg A EMHRZERR o

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

Part No. | Package
TWC-17 2000

-1 @5.5 L

Rig : THRAOMISEGMA 2 HA -

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

Part No. | Package
KWS4-4 1000

g

Rig s AT EL -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm

~— ©50.8

S~
- @38.5— T ‘2 Part No. | Package
‘ i I TWC-14 1000

~— @45 —



Rig: ARHRAESERER -

« Material: PC (UL)/PBT (UL)/POM/
Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0

« Color: Black

« Unit: mm

:QD: Wy »‘QDf Ly ~ @D woy
T W T w Tl w
I L —f—r —f—f
[ UPC-1, UPC-3 ] [ UPC-4] [ UPC-5 ]
Part No. A B |[C| D E | F | Material | Package
UPC-1 [25.4(17.67|4.3]11.07|9.36|1.79 pC
UPC-3 [25.4(17.7 |4.3]11.0 |9.4 |1.95
UPC-4 25.0/15.0 {4.3]11.8 |6.9 (2.4 PBT 1000
24.2|14.7 |4.1]11.4 |6.6 (2.4 POM
UPC-5 |[25.0(15.0 |4.2]11.8 |6.45|2.45|NYLON 66
R MAEEHZER -
- Material: PC+ABS (UL)
« Flame Class: 94V-2/94V-0
. Co!or: Natural/Black
* Unit: mm T m3j
Part No. | Package
i TWC-4 | 2000
TN~
g5 5
RAE: MAERHZRA -
« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
Part No. | Package
WSG-1 2000




g % E R - &AM RAF o

+ Material: Nylon 66 (UL) + Material: POM (UL)
+ Flame Class: 94V-2/94V-0 + Flame Class: 94HB
+ Color: Natural/Black
+ Unit: mm 310
~— @7.8—
j gg ‘: ~1 @535
B — ey 73
ﬂﬂ“‘f BRI
1.1
PartNo. | B | C | E | Package © T & M4 &
TWU-1 |5.0/4.2|5.0 2000 Part No. | Package
TWU-3 |6.0/5.0/6.0 TWU-2 2000

Rig: RREMHB8BEKER -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm 216 H‘

‘ 6.3

w o Part No. | Package
o (o]
GLIN-10 1000

g« &R R & AR -

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

Part No. | Package
S d WSC-1 | 2000
_ L
R
i
A MABSKZRR -
« Material: PC (UL)
+ Flame Class: 94V-2/94V-0
. Co!or: Natural 8.9
« Unit: mm
n
n o™
~— @6 — ‘T| o~
| | = Part No. | Package
: ‘ WSF-3 2000
@32 19
—- @6.35 ‘“ o~




+ Material: Nylon 66 (UL)
« Flame Class: 94V-2/94V-0

Rig: TR&FEKRAZER -

« Color: Natural/Black ~— @14.7
+ Unit: mm @5 -
~— @13.2 o Part No. | Package
0116 o WSU-515 | 2000
1

\ /

\, 7/

- Material: Nylon 6 (UL)/Nylon 66 (UL)
« Flame Class: 94V-2/94V-0
+ Color: Black
+ Unit: mm ~— @12 a‘

‘ @4.4

3.8

N

RECOMMENDED
MATING SCREW: M4

Part No.
WSUB-1

Package
1000

+ Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

g5k

Part No.
TWC-1

Package
2000

+ Material: PPS (UL)

+ Flame Class: 94V-0

- Color: Natural(Brown)/Black
« Unit: mm

—| 26.7 \1

N s

Rig : TRABSERAZEA o

~— 022 — 6.4
@5.2

RECOMMENDED
MATING SCREW: M6

Part No. | Package

WSUB-4 500

Ak AEHIBA -

29.7 — .

1 25.7

03.7-+—

—

e
S

Part No. | Package

TWC-19 1000

“(257.83*‘

@

‘ @3.2

Part No. | Package

TWC-15 2000

a9 o
N



Ak AEHIRA -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black g5.15ﬂ
+ Unit: mm ‘ @2.25
oD
- 0437 i o Part No. | Package
DA TWC-8 | 1000
~ @38 -

Rig: AREHBGER -

- Material: PC (UL) - Material: Nylon 66 (UL)

+ Flame Class: 94V-2 « Flame Class: 94V-2/94V-0
+ Color: Natural + Color: Natural/Black

« Unit: mm « Unit: mm

o
o j —
— C"" @

T e il

&
o
et
- gag - b
o
Part No. | Package Part No. | Package
UPD-1 1000 TWC-2 2000
AR A REZEA -
- Material: POM(UL) - Material: Nylon 6 (UL)
+ Flame Class: 94HB « Flame Class: 94HB
« Color: Natural « Color: Natural
+ Unit: mm + Unit: mm

I:E:I:‘?:|

f
Part No. | Package Part No. Package
WSH-1 1000 WSR9.1-8.6-1 | 1000

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
+ Unit: mm
j 4.8

Part No. C | Package

WSAG-1.5 |1.58
o
WSAG-6.3 |6.35 1000




Bik : MARHEZEN o

« Material: Nylon 66/Nylon 6 (UL)/PE/ THREPERITRAAME o
Color: PBT (UL)/PP(UL)/IPOM (UL) I;Iifferﬁt mztg?ialeavailgblz §er request.
« Color: Natural/Black
« Unit: mm
© (O3
@ ‘ !
2B, - OA —
‘ﬂ g5 - T — 1 o LA @BI*W T
LT ] 1 1 - o ftt E:jIT
[ Ws6-31-2, [ WS3.25-0.9 ] [ WSRA3.2-1 ]
WS063614 ]

Part No. A B © Part No. A B C Part No. A B C
WS1.7-0.5 35 |17 |05 WS3-2 6.0 |3.1 |20 WS-7543 7.5 |4.3 |0.65
WS3.5-1810 35 (18 |1.0 WS3-3.4 6.0 |3.1 |34 WS5.3-0.7 7.7 |53 |0.7
WS3-2-1 3.7 122 |10 WS6-3.2-0.5 |6.0 |3.2 |05 WS8-2-2 8.0 (20 |20
WS2.2-12 3.7 122 |12 WS6-3.2-1 6.0 |3.2 |1.0 WS3-5 8.0 |3.1 |05
WS2.5-0.5S 4.0 |25 |05 WS063214 6.0 |32 |1.4 WS3-8 8.0 |31 |08
WS2.6-2 4.0 |26 |2.0 WS063614 6.0 |36 |14 WS3-10 8.0 3.1 |1.0
WS4-3.1-1 40 (31 |1.0 WS6-3.8-1 6.0 /3.8 |1.0 WS3-15 80 |31 |15
WS4-3-12 41131 1.2 WS6-38-15 6.0 |3.8 |15 WS3-20 8.0 3.1 |20
WS42-19-05 42 119 |05 WS4-0.6 6.0 |40 |0.6 WS8-3.6-08 | 8.0 [3.6 |0.8
WS45-2-08 45 120 |0.8 WS-6451 6.0 |45 |1.0 WS8-3.6-25 | 8.0 |3.6 |25
WS2.1-0.8 45 121 ]0.8 WS6.1-1.2 6.1 |3.7 |12 WS8-4-2 8.0 (4.0 |20
WS4.5-2.1-09 45 121 ]0.9 WS63-42-15 | 6.3 |4.2 |155 WS4-5 8.0 |41 |05
WS4,5-2,1-1.1 | 45 |21 |1.1 WS6352125 |6.35|2.3 |25 WS4-8 8.0 |41 |08
WS4,5-2,1-1.15 | 45 |2.1 | 1.1 WS63530512 | 6.35 | 3.05 | 1.27 WS4-10 8.0 |41 |1.0
WS4,5-2,1-1.2 | 45 |21 |1.2 WS6.3-3.1-1.5| 6.35 | 3.18 | 1.58 WS4-15 8.0 |41 |15
WS4.5-2.1-1.3 | 45 |21 |13 WS6.5-3.1-20 | 6.5 | 3.1 |2.0 WS4-20 8.0 4.1 |20
WS452117 45 121 |17 WS3.25-09 |65 [3.25/0.9 WS8-4.2-2.8 | 8.0 |4.2 |2.85
WS4.5-2.1-1.8 | 45 |21 |1.8 WS3.8-0.5 6.5 |3.8 |05 * WS8-4.3-0.5 | 8.0 [43 |05
WS2.5-0.5 45 125 |05 WS4-1.6 6.5 |4.0 |1.65 WS4-3 8.0 |46 |0.3
WS-4529 45129 |1.2 WS4-2.2 6.5 |40 |2.2 WS8-5-1 8.0 |50 |1.0
WS4.9-3715 49 |37 |15 WS4-2.5 6.5 |40 |25 WS5-5 8.0 |50 |50
WS2.1-2 50 (21 |20 WS4-1 6.8 |4.2 |1.0 WS8-5.1-2 8.0 |51 |20
WS5-2.1-1 50 2.1 |1.0 WSRA3.2-1 6.9 |32 |1.0 WS5-0.5 8.0 |52 |05
WS2.5-10 50 |25 |11 WS2.2-0.5 7.0 |22 |05 WS5.2-0.5 8.0 |52 |05
WS2.5-13 50 |25 |13 WS3-1 7.0 |3.0 |1.0 WS855075 |8.0 |55 |0.75
WS5-3-2.5 5.0 3.0 |25 WS7-3-0.8 7.0 |[3.0 |0.8 WS-855 8.0 |55 |15
WS5-3.1-1 50 (31 |1.0 WS7-3.1-05N | 7.0 |3.1 |05 WS8-55-18 8.0 |55 |1.8
WS3.1-1.8 50 (31 |18 WS7-3.2-05 |7.0 |3.2 |05 WS5.6-1 8.3 |5.65|1.0
WS3.1-2 50 (31 |20 WS7-3.3-2 7.0 |33 |20 WS6.1-1 83 |6.1 |1.0
WS53205 50 3.2 |05 WS7-3.6-3.2 |7.0 |3.6 |3.2 WS8.6-4.1-1 | 8.65 4.1 | 1.0
WS5-2-0.5 55 123 |05 * WS4.2-1.5 7.0 |42 |15 WS2-1.5 88 |20 |15
WS3.2-2.8 55 |32 |28 WS4.3-2 7.0 |43 |20 WS2.5-1 9.0 |25 |1.0
WS3-5-1.5 56 [3.1 |15 WS4.3-2.3 7.0 |43 |23 WS3.2-0.5 9.0 |3.2 |05
WS3.7-0.3 56 [3.73|0.3 WS4.6-0.6 7.0 |46 |0.6 WS9-4.3-1 9.0 |43 |1.0
WS6-23-08 6.0 2.3 |0.8 WS7-5-1.6 7.0 |50 |1.6 WS4.5-0.5 9.0 |45 |05
WS2-0.5 6.0 |25 |05 WS3.7-0.5 7.1 |3.7 |05 WS9-55-075 | 9.0 |55 |0.75
WS6-2.7-3 6.0 |2.7 |3.0 WS71316 7.11 | 3.05 | 1.57 WS9-6.2-1.2 |9.0 6.2 | 1.2
WS6-31-2 6.0 |29 |2.35 WS7.1-55158 | 7.13 | 5.53 | 1.58 WS9-6.7-2 9.0 |6.7 |20
WS6-3008 6.0 3.0 |0.8 WS7.4-4.5-05|7.4 |45 |05 WS96-44-08 | 9.6 |4.4 |0.8
WS6-31-05 6.0 3.1 |05 WS4.7-0.8 75 |47 0.8 WS5.6-0.7 9.6 |56 |0.7
WS3-1.5 6.0 |31 |15 WS3.5-0.5 75 |35 |05 WS5.6-2.3 9.6 |56 |23




Bik : MARHEZEN o

« Material: Nylon 66/Nylon 6 (UL)/PE/ THREP ERTEARAME o
Color: PBT (UL)/PP(UL)/POM (UL) I;Iifferﬁt mﬂgtg?ialTs%availgbli §er request.
« Color: Natural/Black
« Unit: mm
O :
|
-~ gA — L L Aﬂ
- gB - Q ‘kggﬂ S) FQB”\ 7&
I E:::J%e
[ WS5.3-0.7 ] [ Ws8-55-18 ]

Part No. A B © Part No. A B C Part No. A B ©
WS3.1-10-1 10.0 | 3.1 |1.0 WS-1482 14.0 | 8.0 | 2.0 WS30-6-1.5 (30.0 | 6.0 15
WS10-4.3-4 10.0 | 4.3 |4.0 WS8.1-0.8 140 | 8.1 | 0.8 WS6.3-2 30.0 | 6.3] 2.0
WS4.5-1.5 10.0 | 45 |15 WS14263515 |14.2 | 6.35| 1.5 WS20.1-3.5 |30.0 {20.1| 3.5
WS10-5124 10.0 | 5.1 [2.4 WS14-11-1 14.7 |11.5 | 1.0 WS33-28-15 |33.5 [28.5| 1.5
WS10-5.2-0.8 |10.0 | 5.2 | 0.8 WS4.3-1.5 15.0 | 43 | 15 WS22.1-4 34.75122.1] 4.0
WS5-1 10.0 | 5.2 | 1.0 WS7-1 150 | 7.1 | 1.0 WS34-26-1 34.8 126.2] 1.0
WS5-2 10.0 | 5.2 | 2.0 WS10-5 15.0 |10.3 | 5.0 WS24.1-4 36.0 [24.1] 4.0
WS5.5-0.8 10.0 | 55 | 0.8 WS6.7-0.65 155 | 6.7 | 0.65 WS2905U 38.0 |29.0] 0.5
WS10-5710 10.0 | 5.7 | 1.0 WS7.1-1.5 158 | 7.1 | 1.5 WS27.1-45 |39.0 |27.1| 4.5
WS10-5720 10.0 | 5.7 | 2.0 WS15.8-9.1-1.7 |15.8 | 9.1 | 1.65 WS421905 42.0 {19.0] 0.5
WS6.1-1.6 10.0 | 6.1 | 1.6 WS6-1.6 16.0 | 6.0 | 1.6 WS40-1.5 455 [40.0| 1.5
WS-1064 10.0 | 6.4 | 0.8 WS8.4-1.6 16.0 | 84 | 1.6
WS106428 10.0 | 6.4 | 2.8 WS16-96-15 16.0 | 9.6 | 1.5
WS8-1.6 10.0 | 8.0 |1.6 WS10-0.8 16.0 |10.0 | 0.8
WS6.35-1.6 10.15| 6.35| 1.6 WS10-1.5 16.0 |10.0 | 1.5
WS1015 10.2 | 5.2 |15 WS16-11-32 16.0 |11.4 | 3.2
WS11-4.4-0.8 (109 | 44 | 0.8 WS10.3-1 16.2 |10.3 | 1.0
WS5.2111.5 11.0 | 5.2 |15 WS10.3-1.5 16.2 |10.3 | 1.5
WS11785 11.0 | 7.0 | 0.8 WS10.1-2 17.0 |10.1 | 2.0
WS7.2-1.2 110 | 7.2 |1.2 WS18-6.4-1.6 (18.0 | 6.4 | 1.6
WS7.2-2.5 11.0 | 7.2 |25 WS8-1 18.0 | 8.2 | 1.0
WS11-5-1.3 11.3 | 54 | 1.3 WS8.4-1 18.0 | 84 | 1.0
WS7.6-0.5 113 | 7.6 | 0.5 WS8.4-1.5 18.0 | 84 | 1.5
WS115-35-4 115 | 3.5 |4.0 WS19-11-1.6  [19.0 {11.0 | 1.6
WS3.2-1 116 | 3.2 |1.0 WS12.1-2.5 19.0 |12.1 | 25
WS7.6-1 116 | 7.6 | 1.0 WS19-14-3.2  |19.05|14.35| 3.18
WS4.3-1 120 | 43 | 1.0 WS5-1.2 195 | 5.0 | 1.2
WS12-5-2 12.0 | 5.0 | 2.0 WS20-6.5-2 20.0 | 6.5 | 2.0
WS5.2-0.8 12.0 | 5.2 | 0.8 WS17-1.3 20.2 |17.8 | 1.3
WS5.3-2 12.0 | 5.3 | 2.0 WS14-3.6 20.3 |14.5 | 3.65
WS12-64-1.4 [12.0 | 6.4 | 1.4 WS14-4 20.3 |145 | 4.0
WS1276415 12.7 | 6.48| 1.52 WS10-3 20.7 |10.0 | 3.0
WS1276420 12.7 | 6.48| 2.0 WS21-10-2 21.0 |10.5 | 2.0
WS1276565 12.7 | 6.5 | 6.5 WS19.1-0.5 21.8 |19.1 | 0.5
WS12779215 |12.7 | 7.9 | 1.57 WS221350 22.0 {13.0 | 5.0
WS6-0.8 128 | 6.4 | 0.8 WS13-2 23.0 {13.0 | 2.0
WS6-2 12.8 | 6.4 | 2.0 WS8-3 24.0 | 8.05| 3.0
WS6.48-3 12.8 | 6.48/ 3.0 WS16.1-2.5 24.0 |16.1 | 2.5
WS8.1-1.6 13.0 | 8.1 |1.6 WS16.1-3 24.0 |16.1 | 3.0
WS12.5-1 13.4 |125 | 1.0 WS25-10 25.0 |14.5 |10.0
WS-148 140 | 8.0 |1.2 WS29-17-3 29.5 |17.2 | 3.0




Rid ABHEZ RN o

+ Material: Nylon 66 (UL)/Nylon 6 (UL)/PC (UL)
« Flame Class: 94HB/94V-2/94V-0
« Color: Natural/Black

« Unit: mm
A —
@B
PartNo. | A | B | C | E | Package
‘ L C0C2-0.5 |4.0]2.3/0.5[1.0
—E o COC3-1 [6.0/3.0/1.0]1.0] 2000
CD:D:I: COC5-4 [8.0]5.0/4.0(25

- Material: Nylon 66(UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
~— @75 @6
—~@3.5 @2.2

ik

1
_ I T
- ! ! b
Part No. Package Part No. | Package
COCA3.5-2.3| 2000 COCA2.2-3| 2000
+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
~— @9.7 —
@4
3.1 ©
S
=4
!
Part No. | Package Part No. | Package
COCA3-0.6| 1000 COCA4-0.6| 1000
+ Material: POM (UL)
- Flame Class: 94HB
« Color: Black
« Unit: mm " 97132-9 —
1 6.9 ‘t
ﬂ - Part No. | Package
N o COCE-1 1000
—




	8-類(全)
	8-00
	8-01
	8-02
	8-03
	8-04
	8-05
	8-06
	8-07
	8-08
	8-09
	8-10
	8-11
	8-12
	8-13
	8-14
	8-15
	8-16
	8-17
	8-18
	8-19
	8-20
	8-21
	8-22
	8-23
	8-24
	8-25
	8-26
	8-27
	8-28
	8-29
	8-30
	8-31


